FEl LHERFERMLIREENE

B TE 1B 4R (#47E : ALOKA TCS-172)

RIEME (1 Sv. h)

BEMENE (1 Sv. h)

HBIEH = HEH

MEEAR WEWH AESF  MEKE KR | Eim  dESom  bsen | 2000 M2 HERO
1 EERHBOK Bk 2015/8/21 14:12 KGR  FRI7ILE 55 0.03 0.03 0.02 0.05 0.03 0.03
2 FREK Bkt 2015/8/21 13:15 KAl N = 0.02 0.03 0.03 0.03 0.03 0.03
3 BhEDFK Bk 2015/8/21 8:54 JK 5 RRA i} 0.05 0.06 0.04 0.04 0.05 0.04
4 FLEVLDOR BKih 2015/8/21 9:04 KBET  FRI7ILE i} 0.03 0.04 0.05 0.05 0.05 0.04
5 ESHLDR Bk 2015/8/21 9:08 JKIZHT * i 0.03 0.03 0.02 0.02 0.02 0.03
6 EMDOR BKiHh 2015/8/21 9:44 KBET  FTRI7ILE i} 0.03 0.04 0.04 0.04 0.04 0.04
7 =D E 7K Bk 2015/8/21 9:24 JKIZHT T T 0.02 0.03 0.03 0.04 0.03 0.03
8 =EEIEK Bk 2015/8/21 10:06 KiZal | FRI7ILE g 0.03 0.04 0.03 0.04 0.04 0.03
9 BEOR Bk 2015/8/21 11:00 KiBET | arsu—+k = 0.02 0.02 0.03 0.04 0.03 0.02
10 BHOR Bkt 2015/8/21 10:31 KEHT  avy)—bk £ 0.03 0.03 0.02 0.02 0.02 0.03
1 m&AmI=EE Bk 2015/8/21 8:44 &K AT + i 0.03 0.03 0.02 0.03 0.03 0.02
12 <FIROR ZDith 2015/8/21 11:19 BAE:L] + £ 0.02 0.02 0.02 0.02 0.02 0.02
13 1BRKEE ZDfth 2015/8/21 14:40 BE R = 0.03 0.02 0.03 0.02 0.02 0.03




